MEL cowé 4 TJAN 2004
1) 3x+2 = A + Bxs¢
2 Gert) x % 4|

7 3242 T AP+ 4+ Bate)x

‘QL:O
> 2 T A

:Coc‘(‘o’(li
O =

A +8 = R=-2

2(2) +(-2+4¢)]
4 -2 +¢c
2 <=«

: P‘\/Fm‘ '(\fLLHOV\S

o ——
0

Cobsb 1n 2nd row

“2p 24 T4
¥ ThpTa
2 o=

S = ee(-l) T2

Clek ™ EWlcA

Vo w
X 2¢-1) =101y = -3 v’
Z) <|+21> ) /
. Y A’.\Sw-g/ - Z /\ - -
.3
= |+ z(zx) N 3 (220 | ’
1.2 a) |
, - 2 Peove  Cot B - Co’éu( p= Stm(otfﬁ)
J‘-’/."E Y
+ 27373 (Za) . Sk Omp
‘)‘,2/-3 i~ (o(—(g) = Sawif = CothSinp
-2 3 Sinol SR Simal Smp
Flr 2x 4% +40x
| 3 K] 3\ = e Cosp Coltk S R
St S Sme SinpR
iVA‘IA for lle ‘l
= ¢oS . cosd
= -4l < 1 ¢ g
> P4 2 A {3 $1mgt

Coeﬁ - Coés#




MET coe€ 4

Tan 2004

Plane 22 -y +2 =2

()

Nbfh\k\

—
-

P’kn( 2

\
Nofna‘ (0>
-}

A"f)l‘ Bt‘('wc-u\ fjhmcf = 4,..7({

l B‘L'W,tca Y- X4 hulf

g i;)

4+A-A ""A\LIA’/\ =2
6 = -3
\ - 4

T
SVL}S* Luck .‘., lfne

(x) (2 +2(-"z))
o | = ~(-4)
- | +(-1%)

-—
-

NEN- —

1)(4)

A

p!
2

2+ 2\
— A
|+ A

(0

' SUL\% ih P’kv\e

2(2+2A)-(—,\) F(1+4) =2

2 l
: CoS(9 = —l)(o>
| . —! Pm‘n{‘ o‘( )‘.-,+.gr5.¢_¢.ﬁ‘,p, ([) J-z-' —;:)
2 |
-t11][e ) \
] - f) cos «+ -/3— Sm (2
) = 2( LcosB4d7 16
1¢_o$6 = 27 40 ..l 2 ./3 7 -
o
Jar A 1+0+1 | i COS((}—‘()
4 Cos(® = | whese o = é«—f'ﬁ _ 1_%
| 'iry |
. cos + Rl = Zcos(&-g)
6 = T3.1L )
' &Y
J e‘t\'\& = Secl@.
= T‘}

P

-«
3 |
(tos0 + ot )?
o

= (g _\T_ A&
A 4405(0"’—;)

:,:f%' set (6 -F) J¢®
+D



;”151 CoRE 4

TJAR 2669
Cii -
c:»k) - ;[ékn(@ f)j Whea & =0 / ¢ :qxj ‘,’Q = —-I.g
At
=) o — g _ _ -
Z[& 0o — tan(-3 j = -5 z-x(q%-50)
— :7 k = l'r - 0.0%
= - (- 1-£ =z o.0%12§
et 4
Tiv)
= ﬁ - ~o.03l2¢t
:Dl @»‘:Qt
) A 9% -
)') > _ glfgg“ = 6 houvs 9= 4%e ~o-ornaft +¢o
29 -oo12% ¢
R) A8-80 = 12 hous a3 <
- § ,
7;i) €= | Z’g)
alﬂ: ’k(ﬁ’@‘t’) —o-0312f
E = ¢.6a hou
> (——l—"{“ = (-kdt oot
& -6o @)
! o = Y-L- A Al
= (6 &,,) = —kt +¢ 3 48&e + 5o
- ~cr0o3INS €
:7 (9"‘&0 - -kt+e % e
- - -kt (4 0
&-6,=e xe = 31:‘3)
Mrdag e ag A -0-03%12¢
_ oy l-kE € T 15.04 h
@— = Ae +@'° ovuvs
7f;;) =So, whe &0, 013 \l) 2”"1“& disaqree  more
65 me proqresses aned
> ag = Ae + So emperabire fullg,
= A =48




MEL cote « TAra 2009 @

8) ~ = 24 248 Asgum.\z curve 1s Sjnnté-/tc&(
t\‘wv@ X —axis
Ls’. 2 cos® + Sin 26
| Rel = 2 x 37 = 343 m
(0¢t2arn) z
Riii)

3) dy _ —250-0 + 20520 A) X ot = 218 & ? 08 ¢ost
A- T Leot® HSn28 -‘-‘J
Az - 2 ws® g) 258 = x -2
At 5"'4@ = se-—-

Aq - Ax <
& / T :
¢ A A = 4081@» :(\'S"‘i&) = | —<7..:z)2
T 2 cos O = cost6 = | —<>¢. -4x +4)
4
ﬂ"\j - Cos & — gl _ L
A coc®- = a - X
4
4 "D d
\'\)\o—\&:g )'37‘=x¢os$: ( —3
4—
:’b - C,oS'E _S\n'g- 4‘
A Cosf =7 "kl = =
N 4
= Z -4 - O
3 . ‘.
2 w) \ = TF§ b e
< &: l-: e
Wk Z 4, 2
- " % :TT‘Y (ar. -x | dx
WS 2 +OmT T4 5 4
o 2
= 33 J - x* _ xS 4
2 1L = . N




